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Y 29.63mSv/h Yy 20.76mSv/h
B 59.33mSv/h B N.D.
Yy 31.29mSv/h Yy 19.28mSv/h
B 114.10mSv/h B N.D.
Yy 20.12mSv/h Y 21.69mSv/h
B 11.79mSv/h B N.D.
Y 20.44mSv/h Yy 19.30mSv/h
B N.D. B  9.15mSv/h
Y 46.22mSv/h Yy 41.41mSv/h
B 84.02mSv/h B N.D.
Yy 44.18mSv/h Yy 43.94mSv/h
3 84.02mSv/h B N.D.
Yy 41.78mSv/h Yy 43.19mSv/h
B N.D. B N.D.
Y 45.09mSv/h Y 42.72mSv/h
B 22.63mSv/h 3 N.D. i
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20mm/ 80mm/
Yy 41.41mSv/h Y 43.19mSv/h
B N.D. B N.D.
Yy 43.94mSv/h Yy 42.72mSv/h
3 N.D. B N.D.

Y 44.05mSv/h

Yy 42.62mSv/h

D wmmn

B N.D. B N.D.

vy 44.66mSv/h Y 44.86mSv/h

B N.D. B N.D.
N.D. 4mSv/h

C 20 /sec
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